normalized X?

W2 4 6 8 10 12 14 16 18 20
X2

[ normalized x? probability |

| || 1 ” || |

n‘ h \’ : J
” ||‘ i H ||H| ; ”{ 'H
1 50.6 .7

0203040

il

i

Prob(xz)

m=a== DQM_mkFit_TT_base_noSel
== DQM_mkFit_TT_retrainOldFiles_v2_noSel

O = SN
5 L S E
S 18f noAE
ES 2 3EHE
v - F

1.6} o E

© 25_
LA - cin e b Voo
1282 Lo - OF
=3 : I
& -2F] :

0.8 -3f L RETETT e

0.6 3 R o ;
o™ o =5H
& g ]

I+
0.5H -
0953 B2 a3 o0 1 2 3
TP n (PCA to beamline)

A A
218 218
< 1.6 %< 1.6
Vv \%

1.4 1.4

I
N

<dpp. > (%)

Ratio

i
T T[T [T [T T I [T TIT T

Ratio

1072 107
AR(track, ]et?



	Contents
	Page 1


